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Warm up:
Write the following in exponential form:

x = log4 52         log x = 7         logm n = y

Write the following in logarithmic form:

3x = 28            y5 = 50         ct = m

Just like exponents, logarithms have 
special properties for simplification.  
Work in partners/groups to find these 
properties...
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Write out your own simplification 
problems.  Challenge your partners to 
solve them.

Find my mistake...

log 3 + log 7 = log 10

log8 54 ­ log4 9 = log 6

2 (log 4 + log 6) = log 96

log 15 ­ log 3 + log 4 = log 1.25
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Homework
p. 516 #20­34, 51­53, 
60, 62, 65
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